1IMR - test - corrigé 3 juin 2025

Trigonométrie

Exercice 1.

a = 48, 25° o = 44,25°
670 180 850 180
= 202 L 6,026°= 6° 01 = O 2 L7 645°= T° 39
g 5370 6,026°= 6° 0 Ié] 570 7,645°= 7° 39
= latitude de B =a — [ ~ |42°14’ N = latitude de B=a —  ~|36°36’ N

Exercice 2.

a) ADC = 180° — 30° — 40° = 110° ADC = 180° — 30° — 50° = 100°
1 AD
thm du sin : — 00 = — thm du sin : — 120 = ,AD
sin(110°)  sin(40°) sin(100°)  sin(50°)
100 - sin(40° 120 - si °
Ap — 100-sin(40%) o)) o ap = 20smOY) s
sin(110°) sin(100°)
thm du cos : thm du cos :
BD? = 50> + 68.4% — 250 - 68.4 - cos(30°) | BD? = 60 + 93.34% — 2 - 60 - 93.34 - cos(30°)
&< BD ~(3543m & BD ~(51.11m
BD . BD 60
b) thm du sin : — — = ﬂ\ thm du sin : — ~ = —
sin(30°%) sin(ADB) sin(30°) sin(ADB)
— 50 - sin(30° —_— 60 - sin(30°
& sin(ADB) = % ~ 0.71 & sin(ADB) = % ~ 0.59
— ADD ~ 44.88° = ADB ~ 35.94°

= a=180°—90° — 30° — ADB ~[15.12°] | = a =180° — 90° — 30° — ADB ~|24.06°|
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Exercice 3.

& o =cos(a)-d=19.02

h
tan(h) = —
x

& hy =tan(f) - x = 13.42

w:90°—9:

& x=cos(a)-d=14.49

ho

tan(f) = —
an(f) ,
& hy =tan(f) - x = 8.84

w=90°— 0 =|58.6°]

Exercice 4.

thm du sinus : — b =2R
sin(5)
. b 3
= Sln(ﬁ) = ﬁ = 5

= [ = arcsin (%) ~ 36.87°

a

thm du sinus : — =2R
sin(«)
o sin(a) = 2 =
SMYTOR T 10

7
= «p = arcsin (1—()) ~ 44.43°

et ap = 180° — vy ~ 135.57°
= /yl = ]_800 — al — /6 ~ 98.70

et 75 = 180° — ap — f ~ 7.56°
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b

S1n

=2R

thm du sinus :

~~

)

b
& sin(B) = 55 =2

DO

= [ = arcsin (g ~ 38.68°

a

=2R

thm du sinus :

sin(a)

& sin(a) = =

a 7
2R 8
= ' 7 61.04°
o = arcsin [ — | ~ 61.
! 10
et ag = 180° — oy ~ 118.96°
= v = 180° — ay — B ~ 80.27°

et 7o = 180° — ap — [ =~ 22.36°
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=2R

thm du sinus : —
sin(7)

& = 2R -sin(vy) ~ 9.88 cm
et cg = 2R - sin(7,) ~ 1.32 cm

aire du A ABC = Lsm(fy)

= A; ~20.76 cm? et Ay ~ 2.76 cm?

=2R

thm du sinus : —
sin(7)

& c; = 2R -sin(y;) ~ 7.88 cm
et cg = 2R - sin(y2) ~ 3.04 cm

aire du A ABC = Lsm(’y)

= A; ~17.25 cm? et Ay ~ 6.66 cm?

Exercice 5.

sin(t) 1 sin(x) 1
= -9 t + 2cos(x) =

2) cos(t)  cos(t) cos(t) cos(x) (z) cos(x)

= sin(t) = 1 — 2cos?(t) (cos(t) # 0) = sin(z) + 2cos?(x) =1 (cos(t) # 0)

= sin(t) =1 — 2+ 2sin®(¢) =  sin(z) +2 — 2sin®*(z) =1

& 2sin’(t) —sin(t) — 1 =0 & 2sin?(x) —sin(z) —1=0

r=sin(t) = 22°-2-1=0 y=sin(z) = 2°—-y—-1=0

& (2z41)(x—-1)=0 & 2u+D)y—-1)=0

: 1 : : 1 .
= z=sin(t) = ~5 (x =1 sol & élim.) = y=sin(x) = —3 (y = 1 sol a élim.)
1 1
arcsin (—§> = —30° arcsin <—§) = —30°
ti =-30°+k-360° avec ke€Z r1 = —-30°+k-360° avec ke€Z
= =
ty =210°+ k- 360° avec k€ Z re = 210°+ k- 360° avec k€ Z

sin(x) sin(t)
b) cos(x) 3 = tan(a) 3 cos(t) 4 an(z) 4

arctan(—3) ~ —T71, 56° arctan (i) ~ 14.04°

= |z~ -T7156°+k-180° avec k€Z| | = |r=~14.04+k 180° avec k€ Z
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Exercice 6.
1
arcsin (5) = % arcsin <§) — g
3x1:g+k-27r dry = 4 k-on
= =
5
3x2:%—|—k-27r by = L 4 kon
2 1
x1:118—|—k5-§7r avec k€ Z x1:%+k‘-§7r avec k € Z
= =
5 2 1
x2:£+k’-§7r avec k€ Z x2:%+k-§7r avec k€ Z
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